	CIS 2168 – Quiz #2

	Name:                                                                                      TUId (last 4 digits): _ _ _ _



In the case of multiple choice questions, please select the SINGLE answer that is CLOSEST to the truth.

	Q1: 2 points
In the JAVA event model,
· The SOURCE registers the LISTENER

· The LISTENER registers the source

· The EVENT registers TO the LISTENER

· The SOURCE registers the EVENT



	Q2: 2 points
To make a button visible on the screen, it must be
· Added to a visible container-object, e.g. JFrame

· Activated by ‘addActionListener()’

· Created only, calling the constructor automatically shows the button on the screen

	Q3: 2 points
Bring the six steps of creating a GUI into the right order:
Add components, apply layout, register listeners, show it to the world, import packages, set up top level container

1._______________________                     4._________________________

2._______________________                     5._________________________

3._______________________                     6._________________________



	Q4: 2 points
In the JAVA event model,
· A) A source can register multiple listeners

· B) A listener can be registered to multiple sources

· A & B

· Neither of the above



	Q5: 2 points
Assume you find the line ‘this.addActionListener(this)’ in a (correct) JAVA class named ‘MyClass’. What is a possible class definition for MyClass to makes this line of code valid?

· Public class MyClass extends JButton implements ActionListener

· Public class MyClass extends JButton

· Public class MyClass extends JFrame implements ActionListener

· Public class MyClass extends JFrame 



